FE2EBEBAEMEL BERRFEYYH—b—F Ak 1[EE
B B |TA20F7A6HE(R)540  |HAMR[|0s £15% |BRBEREISKRAD
% & |8 EEl £ A |wmA EvFRE BRE
TyFaAIviatF— "R E BlZE1 IR X FADEH|ER Z [rRZ 4004
F # ZH 17 BlE2 (KN & ELERIE L |[RBREL - MK BRI RE|FIE
(R—LF—L) 0 B 4 (ECE—F—L)
HBEE A 2 . 4 KIRAEKS
2 ® 0
KICK OFF
R Sa—k P . Il R . P a—h R
No. | OUTESFS AR & EFA E E|E E EFA & | % OuTE [ No.
0 BEO JE 1| GK| GK | 51K HIL 0
0 KRI TEE 2| DF| DF | 5[L&E HX 111 665>
0 INER BhiR 6| DF| DF | 2|&# K5 0
1 1 Brig B 15| DF| DF |  3[ALL F0#t 0
21| 3 & MiE 11| DF| DF | 4[#B% #0 0
5543 0 HE & 8| MF| MF| s|#HE Fith 2 (3] 3
2 (1] 3] 1 |=E B8# 4| MF| MF [ 15|#8)11 B4 11
3| 1| 4|1 [FEK A 7| MFMF| 7|EFF & 1 (3] 2]1
45493 0 |IE = 10| MF| MF | 18| TR ®A 11 86%
1] 1] 2 " Bz 9| FW| FW | 26|lLAR #1— 3 (1] 2
745 1] 1 EE BA 18| FW| Fw [ 20|)IITE $X 3 (1] 2 6453
0 B B 21| Gkl Gk | 1[EKX #A 0
18 1 1 R E|EX 5| DF| DF | 6[#2E X 0 5
0 He Rl 25| DF | DF | 12|HE&E EiE 0
10 1 1 AB B 13| MFI| MF| 9|&&B = 1 1 18
0 HE T 14| MF| MF [ 27|#2i% =8 0
0 BiR &t 22| MFl FwW | 11[RER #jue 0
8 0 HR BE 20| Fw | Fw | 22|#&)iIl RR%H 0 20
®5-8i5 BB BEE ®5-8i5
39y = | 2RI RE RAR |l % A R 2357 & | 26|lUKX #— 37
# | B - gl % 4550 Z | 5|lLE HEX RRK
g g | TOREH Qy )k 705 = | 18| 7@ A RAR
1] 5|16[>a—kr|16]10]| 6
119 f10] ek 3|1 1] 2
6|28 CK 1]of1
107 17| EEFK[13] 4| 9
13| 4 |MEFK| 2] 2|0
13| 4 |[EM] 1| 1|0
olo]o PK olo]o
BREME|] BRF—L | No. | FRF | No. | 7YVRM | No. | PYRE || R37 |[BA#E8 B8 ~FUIL —:T08R 1 52EHSR X GBE S:va—b HiATALY
3D KIRABXRZE | 5 [ILEHKX 0-1 PK 5 S
113 | KIREEKXRE | 7 |BAFTER 0-2 [[AY4F| FK 7 S
345y | KERAB XS | 8 |FEME| 20 JITEMA 0-3 g PR 20 - PR 8 ~ PTU7
PR 8 S
38| KBRABE KRS | 8 |FEMB| 18 [FREAN 0-4 ||F—uiwmi| %= 18 S x PT)7 a 8
s
635 |FTiRBRERE | 7 |FEKFA| 20 |BHEEF 1-4 || EYAK 20 - PR 7 ~ PR 7
s
665 |FTRBREXRE | 4 |SBEM 2-4 | BYAF 4 S
[FH & B BT346:09(1:09), #347:29(2:29), HAFTERR 1:48:41
[HE] X @E7H4Y) RIS FEFKDSS . @FF—LDFIYAFICLDHZE. RELTVET,



